                                             SEMESTER TEST PRACTICE PROBLEMS 

1. A mass of 80Kg is 9.6x10-3m from a 400Kg mass what is the force of attraction?

2. A moon with a mass of 4x1013Kg is around a planet with a mass of 6x1026Kg. It’s distance is 2x105m. what is its attraction?

3. What is the orbital velocity of a satellite which is 2.3x103Km from the center of the earth? ( Me= 5098x1024Kg   Re= 6.37x106m)

4. A ball is thrown from a 80m building at a velocity of 10m/s. A) find the time it takes for the ball to hit the ground  B) How far from the bottom of the building does the ball strike?(136)

5  A bullet is shot at 2200m/s at an angle of 420 above the horizon.(138)

    A) How long did it take to hit the ground?

    B) How high did the bullet fly?

    C) What was the range

6. A ball is thrown from the outfield at 60m/s at an angle of 260. How long did it take to get to the first basemen lying on the base, How high did the ball go, and how far was it to first base?(138)

7. A  .1.8Kg bullet is shot from a gun. The velocity as it leaves the barrel of the gun is 100m/s. The barrel of the gun is 1.1m. Find the force the bullet while it was still in the barrel of the gun.

8.  A .035Kg arrow is shot from a bow drawn back 2.4m. The arrow leaves the string at 110m/s. Calculate the force the bow applied to the arrow

9. A 320N force applies a velocity of 4m/s to a 38Kg mass. If the initial velocity is 0m/s. How far was this force applied for?

10. A car with a mass of 1300Kg is traveling at 100m/s, slows to a stop in 30m. What is the size and direction of the force?

11. A  ..7Kg bullet is shot from a gun. The velocity as it leaves the barrel of the gun is 12100m/s. The barrel of the gun is..7m. Find the force the bullet while it was still in the barrel of the gun.
12.  A .025Kg arrow is shot from a bow drawn back 1.8m. The arrow leaves the string at 128m/s. Calculate the force the bow applied to the arrow
13. A 400N force applies a velocity of 5m/s to a 48Kg mass. If the initial velocity is 0m/s. How far was this force applied for?

14. A car with a mass of 1360Kg is traveling at 120m/s, slows to a stop in 50m. What is the size and direction of the force?

15. What is the velocity of a satellite 526Km above the earth( careful..see 
16. What would the satellite in #15 period be? 

17. A mass of 5x1010Kg is 3x105m from a 3x104moon. Find the force of attraction.

18. A model plane is flying at 5m/s along the horizontal vector. A cross wind  is hitting the plane at 90 degrees, the angle of deflection from the straight path is 30 degrees. What is the velocity of the cross wind?(115)

19.Using the parallelogram method  determine what the resultant would be if 40N force is acting perpendicular to a 70N force. Draw the diagram, labeling each force and derive the resultant force.(4pts)

20 A boy pulling a sled up a hill at and angle of 18 degrees with 30N force. What are the component vectors at zero degrees and 90 degrees?(119)

21. A log beam is being supported by  2 ropes that make a 25 degree angle with the horizontal support. The sign is in equilibrum. What are the forces exerted by the ropes?(4pts)

22. A student exerts a 5 0N force along the handle of a snow shovel to push the snow off the sidewalk. Find the horizontal component when the handle is at the following angles(6pts)

A) 23 degrees

B) 38 degrees

C) 68 degrees

23. A spacecraft traveling at a velocity of 2390m/s is uniformly accelerated at –320m/s2. If the acceleration last 7.54s. What is its final velocity?

